HERMAN

M

4 ?\q
'\J‘\
v

A
—-—"

Name | Cordless drill/driver Mark | HERMAN
Type | AXSP-1803 Valid 5.6.2023
Exploded Wiew Version | 4002338 | page 1/2




HERMAN

Item no. Part no. Description Q'ty RSP (EA) Remark

1 2400086 +PAN HD TAP SCREW M3*16 9 10

2 3150307 BIT HOLDER ASS'Y 1

4 2075138 RUBBER DAMPER 1

5 2111510 LED COVER 1

6,17 3140675 HOUSING SUB ASS'Y 1 Include #6, 17

7 2065246 HOOK 1

8 2400530 SCREW(+TRUSS HD,M/C,M4*12) 2

9 3150477 SIDE HANDLE ASS'Y 1 B

10 2450042 KEYLESS CHUCK ASS'Y 1 10

11 2400547 SPECIAL SCREW 1 10

12 2400557 +PAN HD TAP S PW M4*18 4

13 2111676 REVERSE KNOB 1 2

14 3501058 GEAR BOX ASS'Y 1 10

15 3150478 SHIFT KNOB ASS'Y 1 3

16 2050689 SHIFT PLATE SPRING 2 2

18 3500400 ROTOR SUB ASS'Y 1 B

19 2100574 FAN GUIDE 1 B

20 2400538 +PAN HD TAP SCREW M1.7X5L 1

21 2006184 PHOTO PCB ASS'Y 1 3

22 2412478 RUBBER A 1 3

23 3210261 CONT+STATOR SUB ASS'Y 1 10

24 2100575 MOTOR REAR COVER 1 2

25 2450041 TAP SCREW M3*40 4
Name | Cordless drill/driver Mark | HERMAN
Type | AXSP-1803 Valid 5.6.2023
Part List Version | 4002338 | page 2/2




